Ratio to Pythia 8.308 default

0.5

Rivet 3.1.10, = 2.1M events

1960 GeV ppbar Top (parton level)
:l 1T T 1T T 1T T 1T T | 1T T T T 1T T 1T 7 | 1T T 1T T 1T T 17T | L | ':
= PT (top) (Mtt < 450) =
3 RGN E
[ —a— Pythia 8.308 default o 1]
= - ¥- Pythia 8.308 vincia-default : : : ?
;l=!=!=!:!=l:!-!-!-!-l:!:!:i!i=!=li!;
- I AZAA LA/ T’* : .

A 4 YVVYVY VY T l
N DARARARAS — ! 1 .
— Y\v ’! * ,'ﬂi : ‘| I /*7 7]
i MLETRER
a Y NI v -7 Bt
_ il | |1l

Ly L L ._. l: # i';. , II‘]y
0 100 200 300

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


